(2)&(T2—-2)

(FRL264E)
3t E x BAEHELCE

itk | ek | 2 A | B R HER EE1 20 | s | sms

e | U | BUE | pow |8 AT e u| B0 san

|t T
£ H 8.0 105|  A2.1 2.1 0.9 22.9 10.6 12.3 3.7 3.0 0.7 5.1 1.77
I B 182 75 108| A32 24 1.4 20.3 9.3 10.9 46 35 1.1 45| 158
BN 7.7 98| A22 2.4 0.6 19.2 10.0 9.4 4.1 35 0.6 43 1.56
ERmEm 9.2 7.8 1.4 - 20 17.4 9.7 7.8 20 20 - 48 1.71
e 8.0 7.7 0.3 1.3 - 215 1.5 10.2 39 39 - 48| 1.77
3w A5 BT 6.2 87| A25 - - - - - - - - 45| 1.94
= Snfr 7.2 126| A54 - - 47.6 47.6 - 47.6 47.6 - 42| 1.26
BT 7.0 136| A6.7 14.1 - 13.9 - 13.9 13.9 - 13.9 36| 078
£ RET 32 182| A15.0 - - - - - - - - 2.7 0.00
J\EEET 5.4 17.7] A123 - - 16.1 - 16.1 - - - 32| 088
=D1L 44 205| A16.1 - - 25.6 - 25.6 - - - 21 092
ES=1Es) 44 209| A165 - - - - - - - - 26| 0.0
S ET 6.8 117 A49 16.1 - 15.9 8.0 8.0 - - - 33| 165

<BLEOHEBHE>

H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1071 BEAEDAD X 1,000

EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000

AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A R B T8 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D B 78 30 %K x 1,000
D4R 2 258 LAt D FE R = TR 22:8 ARG D SEEE SR HH B (B A4k + 3R IR 22:B LIBE D SEEESR) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.

<EHEHICHW:=-ADODHE>
2 : TR265F10A 1 BREHT A O (BBEEHER)
BB RUHETH - FRE26E1081 BRAEHSTAD (BHEER)




